1
R

i

GN 617

2 B H

- BB B RN AR,
- BLEDRRA,

B8 B R B A PA) B R SOR AR, X E R LA, AK
R), ®OER . AL, R RE AR R
R AT(G, CKR), TREFF EXRLA 24, SFREAhe
B WL oy AR AL

A E AR ELEN R FEHAK, CKE),

A EARAIL, BWEAHTAR A E,

GN 6174 EHER TEREMBIENTE,

WREIEHTRERIEN LN, WTUREEEEARENSHENE
GN 609(% W, £4057), PAip#b 4k E,

|
I

A

I

A

la

I2

AKH

(% 1 % it T 4H)

GK A

j :

e R FR~F HEEN BEs

B 2 d 2% | dieg do D | I 12 13 14 - ﬁﬂf ﬂﬁﬂ]ﬁ g
GN 617-5-A 5 23  M10x1 21 17 5 5 15 - 12 7 17 18
GN 617-6-A 6 285 M12x1.5 25 20 6 6 17 - 14 9 24 32
GN 617-8-A 8 35 M16x1.5 31 26 8 8 23 - 19 11 30 70
GN 617-10-A 10 37 M20x1.5 31 33 10 10 30 - 22 19 45 110
GN 617-5-AK 5 23  M10x1 21 17 5 5 15 - 12 7 17 24
GN 617-6-AK 6 285 M12x1.5 25 20 6 6 17 - 14 9 24 42
GN 617-8-AK 8 35 M16x1.5 31 26 8 8 23 - 19 11 30 90
GN 617-10-AK 10 37 M20x1.5 31 33 10 10 30 - 22 19 45 143
GN 617-5-G 5 23 M10x1 M5 21 17 ) 5 15 6 12 7 17 15
GN 617-6-G 6 28.5 M12x1.5 M6 25 20 6 6 17 10 14 9 24 29
GN 617-8-G 8 35 M16x1.5 M8 31 26 8 8 23 12 19 11 30 53
GN 617-10-G 10 37 M20x1.5 M8 31 33 10 10 30 12 22 19 45 98
GN 617-5-GK 5 23 M10x1 M5 21 17 ) 5 15 6 12 7 17 22
GN 617-6-GK 6 28.5 M12x1.5 M6 25 20 6 6 17 10 14 9 24 35
GN 617-8-GK 8 35 M16x1.5 M8 31 26 8 8 23 12 19 11 30 72
GN 617-10-GK 10 37 M20x1.5 M8 31 33 10 10 30 12 22 19 45 129

5 (elesa+GANTIR

“ELESA" and "GANTERGRIFF” models all rights reserved in accordance with the law. Always mention the source

when reproducing our drawings.



